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QUESTION 1

A multi-select attribute with five options is displayed as check boxes. Depending on the conditions, the 

Configurator should show a user three of these five options. 

How do you accomplish this? 

A. by writing a Constraint rule 

B. by writing a Hiding rule 

C. by writing a Recommendation rule 

D. by writing a Pricing rule 

Correct Answer: B 

 

QUESTION 2

What is the correct order of execution of Configuration rules for an attribute that has both Recommendation and
Constraint rules written on it? 

A. Recommendation, Constraint, Hiding, Recommended Item 

B. Constraint, Hiding, Recommendation, Recommended Item 

C. Constraint, Recommendation, Constraint, Hiding, Recommended Item 

D. Hiding, Constraint, Recommendation, Recommended Item 

E. Recommendation, Recommended Item, Hiding, Constraint 

Correct Answer: D 

 

QUESTION 3

Which two statements are false about BML? (Choose two.) 

A. BML follows the Object-Oriented programming model. 

B. BML does not need to be externally compiled as the application compiles the BML. 

C. BML has characteristics of Compiled and Interpretive programming. 

D. BML is a C++ based markup language. 

Correct Answer: BD 
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QUESTION 4

Given the following code: 

What will be returned? 

A. (key) = (/library/book/@lang)(value) = (en)(value) = (fr) 

B. (key) = (/lang/book/library)(value) = (en)(value) = (fr) 

C. (key) = (/library/book/@lang)(value) = (English)(value) = (French) 

D. (key) = (/library/book/@lang)(value) = (Spring in Action)(value) = (J2EE Blueprint) 

Correct Answer: B 

 

QUESTION 5

Given the following code: 

Which function, when filled in the blank, will return a value of 1? 

A. findinarray 

B. arrayfind 

C. findarray 

D. findinsidearray 

Latest 1Z0-1033-20 Dumps | 1Z0-1033-20 Study Guide | 1Z0-1033-20 Exam Questions                               3 / 4

https://www.pass2lead.com/1z0-1033-20.html
https://www.pass2lead.com/1z0-1033-20.html
https://www.pass2lead.com/1z0-1033-20.html


https://www.pass2lead.com/1z0-1033-20.html
2024 Latest pass2lead 1Z0-1033-20 PDF and VCE dumps Download

Correct Answer: C 
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